| Efficiency vs Dxy |

> 0.1
<

1T S S T —
> E 5 5 5 5 5
80,08 o R e
c r H H H H H H

80,07
& T S
B 0 e RN ARI LU froces oo
0055
00—
T e e o e
S s o e
O

0

Ratio

14_— ---------------------------------------------------------------------
o
1__ R T R

2015 C10 5 0 5 10 15 20
TP dxy (cm)

—=— DQM old
| Efficiency vs Dz | | —s— DQM_wrong

—«— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_RECO
N 0.05 ; : : :

T S 1

> g N H H H N
20.04F Froeeeeeees ERRARS (REREE RS RES R
2 F : : : : :
D.035 s oo oot SRR R
S - R S N T N
008w o
Y A -
oz
00152_ --------- L ----------- k B ;ﬂ"o" """ """"""
e e
00052_ """"" """""" -------- -|ti---n ------- ...........
P! S0 POV TN 1 |V SO
T [
x N
1__ ------------------- O S S

093556 =10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


